
e.50

i.32 

e.32
 

i.50 

e.40 

e.32

e.
22

 2
70

 

ART. 14427SU

KAWASAKI NINJA 400 /  Z 400 /               
NINJA 500 / Z 500
(Fit with original passenger footrest)
FULL SYSTEM 2/1 - FACTORY S - CARBON 

Pipe s.s.
Cod.3014426201 

Pipe s.s. RHS
Cod.3014239202

2x S.s. bushing
Cod.2064352x S.s. flange

Cod.204524

Pipe s.s. LHS
Cod.3014239201 

6 Short helical spring
tensile 
Cod.303949001

Allen screw M8X20 
T.C.E.I.
Cod.200722

Plain washer 8x17
Cod.200294

Stainless S. Bracket
Cod.0814239501

Knurled collar 
nut M8 Cod.200298

Aluminium spacer
ø25Xø8,5X25 
Cod. 204891

Knurled collar nut M6
Cod.200333

Allen screw 
M6X70 T.C.E.I. 
Cod.206114

Aluminium spacer
ø27X9X6,5 
Cod. 205767

Aluminium spacer
Cod. 205866

FACTORY S silencer . 
Carbon fiber
Cod.308436481U

Carbon Bracket FR2
Cod.308448501

"S.s. Flange"
Cod.204524

"S.s. Busher"
Cod.206435

M12
Lambda Plug
optional 
Cod.5683

 R23
,50

 

38,50 

 58 
 2 

4 

 11 

 9
 

 R8,5
0 

 3
0°

 

 2
7 

 1
0  4

 

 3
 

38 44 

32,20 
30,50 

35,70 

 106 

 1
44

 DB-Killer 52B
Cod.308437801

Lambda Plug
included 
Cod.5683


